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'Book!etA'(ZS x 2 marks)

For each question from 1 to 28, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4) Shade your answer on the Optical Answer
Sheet. . (56 marks)

1 The table shows the charactenstxcs of four things, A, B, C and D.
A t;ck ) xnd:cates the presence ‘of the characterzstzc

{ Thing ',needfsyai’rf,‘ food t:anm”ake can move from | has four
' and water food | placeto place ~ legs
A, B v E ’ - ; v ] Vg
. ; , _ -
< v B 7
D v v

Which of the following correctly represents A, B, C and D?

A | B ¢ D
&) bee hibiscus p!aht chair giraffe
(2) giraffe - chair | hibiscus plant | bee
(3) chair | bee | giraffe hibiscus plant
(@ [ giratte | chair bee | hibiscus plant
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‘2 - Study the diagram.

plants

| non-flowering +  flowering

~ ‘water  dand | | water | | land

P Q@ R s

Plant'G'reproduces from spbfés and grows on ’{Hékb‘fahché%é éfé tail t'r'ei"e:f g

Based oni the charactenstxcs of p!ant G, wh:ch letter P Q R or S,‘ .
represents plant G‘? ' :

Mm P

@ a
@ R
@ s

3 The diagram shows the human digestive system.

Which of the following correctly shows the functions of the Qrgans? :

absorption of digested food absorption of water B

(1),: e . : —
2) '

=N =

© v
@ z
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4 . Which pléni part is not matched correctly to its functions?

(1
(2
3
(4)

plant part

function‘

seed

to grow int”cyik a 4n'e§~ piajnt

leaf

to make food for the plant

~ stem

to anchor the plant firmly to the ground

root

to absorb water and mineral salts from the Soi

5 The ~diagrafﬁ$ show thestages ﬁbf‘thedévelopmentpf a seed.

o

A

:'B, c " D

Which of the following shows the correct order of growth of a seed?

(1)
2)
()
(4)

CHS/SC/PS/EYE/Booklet A2022
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-8 Squirrels store a large number of nuts during winter. The sqwrreis often -
eat the nuts hai@a‘y‘t‘aecattse -the bottom part of the nut tastes bitter. As
the winter tums to spring, these haif-eaten nuts can str!! germinate and
grow into young plants,

whole nut

. half-eaten nut
baby plant

thch are poss:b&e reasons why the ha!f—eaten nuts can snil germmaie: |
and gmw into youﬁg pfants? :

A They recewe %sght to ge;'mmaie S
‘B There is food stored for the young plant.
- C The baby p!ant is found at the bottom of each nut
D Thereis wafmth for germmahcn when wmter tumns to sprmg

(1) Aand c cnly
(2) BandDonly
(3) B,CandDonly

4 ABCandD

CHS/Se/PS/EYE/Booklet A/2022 4



7 Raja conducted an expenment using two msect-poiimated ﬂowers Pand
Q, from- the same plant. The d;agram shows the parts of one ﬂower '

He removed a part from flower P and another part from ﬂower Q He
~recorded his obsen/at:ons of the d‘” t of the ﬁower over txme

| ﬂower / : deve!ops mtoafru:t
Q I O e T

Which of the following shows the parts removed from the flowers?

flower P . : flowerQ
) A e B
2 € o D .
@) c A
) B )

CHS/SC/PS/EYE/Booklet A/2022 5



8 The diagrams-show.the:human and the plant reproductive systems. .

h’uman' réﬁi‘ﬁduc‘tive

system o system

(1) [AandC
@) iAandii;;f '
(3 [ BandC [E , S —
@ | BandD The male and fema!e reproductxve cells fuse in these parts

| 9 The tab!e shows some charactensttcs of Jane s parents and herself.

, | has dlmples able to roil tongue | long hair
Jane’s father - No  Yes No
Jane's mother Yes No Yes
. Jane Yes - Yes No

Based on the table, how many characteristics did Jane inherit from
each of her parents?

{1}  one from father and one from mother

(2) one from father and two from mother

(3)  two from father and one from mother

(4) two from father and two from mother

| CHS/Sc/PS/EYE/Booklet A/2022 6



10 The diagram shows how water and food aré transported in‘a plant:

water ----»

. ’,"’ - . \"‘ fOOd i
¥ o

Which of the fésibwing correctly shows the parts of the plant?

R S T
()]  roots | flowers | jeaves
() [ Teaves | roots | Tflowes
8| flowers | ,,ieé\,/:esy | roots
(4) flowers 1 rdc')ts, : leaves

11 The diagram shows how food and various gases are transported in the human
body. ‘ ' :

food — | digestive system

:

system Q

A
1 gasP

g

surrounding
air

..... > VSys,tekm R | ------» exhaled air

What are systems Q and R and gas P?

systemQ system R gasP

(1) | circulatory  respiratory oxygen

(2) .respiratory' circu!atbfy ‘ oxygen

3) | ciroulatory respiralory | carbon dioxide
4 ' reSpiféfcry | circulatory ~Garbon dioxide

CHS/Sc/P5/EYE/Booklet A2022 7






12 Diagrams 1 and 2 show how gases are- transporied,-in;tba:gigcul@atory‘ L7
- system of a fish and a human respectwe!y ” -

"éil}é |
FRRY
~ heart | o ,
I
: pthér parts of the body 1« e bthe’t kpa‘r‘ts:of the body |
diagram‘! ‘ y ,diagram‘z

Based on the diagrams, which statement(s), 'islate corret:t?

A
B

c

(1)
@)
()
4)

A ﬁsh has a smgie circulation but a human has a double c:rculation

Exchange of gases takes place i in the gills for the ﬁsh and Sungs for
the human.

The human crrcuiatory system transports substances around the
body but the fish circulatory system does not- transport-substances
around the body.

A only

~Aand Bonly

B and C oniy

"A,Band C
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13 The diagram shows two cells.

- m
@
@
@

nucleus

- cytoplasm

- chloroplast -

- cell membrane

s lab lle correcﬂy?
nucfeus o 5 o . ' \
oytoplasm
chloroplast
coll membrane

14 The table shows the characteristics of two cells, G and H.
- Atick (v) indicates the presence of the characteristic.

~ pasofthe cell celG [ cellH

"~ cellwall ~ 7

. nucleus I v o T

chloroplast

cell membrane o v

Which of the;fojliow'ing correctly represents cells G and H?

(1)

@2

&)
4)

celG |  cellH

cheek cell root cell

root cell | cheek cell

~ root cell - leaf cell

. leaf ¢e¥l - cheek cell




15 The diagram shows a certain process that takes place in green plants.

substance A |
taken in

| substance B

 takenin

procesg

(inthe

presence of
light)

il

plant

‘substance C |
made in the

givenout

substance D ;

Which of the following correctly identifies substances A, B, C and D?

(1)

@
(3)

(4)

substance A

- substance D

[ substance B | substance C
food " water oXygeh carbon dioxide
oxygen | food carbon dioxide water
carbon dioxide water food ckygen
carbon diOXide food oxygen water

18 Wei Yéng plucked a leaf from a plant and placed it in a beaker of hot
water.

leaf ——
hot water ——

-,

' . bubbles

He observed that the bubbles formed only on the upper surface of the
leaf.

Which siatement is correct?

(1
)
©)

(4)

Bubbles formed in the water and landed on the upper surface of

‘the leaf.

Air escaped through tiny openings found on both surfaces of the

leaf.

The leaf had tiny openings on the upper surface but not on the

lower surface.

* Air entered the lower surface of the leaf and escaped through the

upper surface.

CHS/Sc/P5IEYE/Bookiet A/2022
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17 Pete _painted the glass jar black and watered the plant before placing the
set-up in the sun. He measured the amount of oxygen in the glass jar from
7 amto 7 pm. ,

glassjar
__ painted
- black

Which graph shows how the amount of oxygen in the glass 3ar changed
from 7 amto 7 pm‘?

w0
~amountofoxygen amountof oxygen

B R ———r ,tsme | S —» time

!

7am 12pm 7pm - T7am 12pm 7pm

@ o

amountofoxygen ~ amountof oxygen

s tme Loy o0 L Ltime
7am 12pm 7pm 7am 12pm 7pm
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18 Devi wantedto ﬁnd out if addmg fertiliser.to four similar plants,. P.Q,Rand
S, would affect the rate of photosynthes:s The tabte shows ihevcandmons

for the.four plants,
, P B
| amountof water (ml) | 80 ks - 0
amount of light (units) [ 4000 |0 | 4000 | 2000
i amount“of'fe‘ﬁiﬁse‘f (9 o | 12 [ 12

o Wh;ch iwo piants shouid}she use for her expenment'?

W Panr

’(,2) P and S
(3)'5'5anndR' \

. (4) Qand S

19 The dtagram shows a leafon a p!ant At the start of the experiment, there
~ was no food on the leaf.

-white area

\', —green area

Next, the leaf was partly oovered by black papers as shown.

 The plant was then put in the sun. After several hours, the leaf was plucked
and the black papers were removed. The Jeaf was tested for food.

Which part(s), W, X, Y and Z, is/are food mostly found?
(1) Wonly

(2) Xonly

{3) Wand Xonly

(4) YandZonly

CHS/S/PS/EY E/Booklet /2022 12



.20 Five magn’e‘is are arranged as shown,

[&  Blc

Which arrangement is not possible?

o

@

3

(4)

CHS/SCIPS/EYE/Booklet 2022 13
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21 Study the diagram.

pump-———E:_‘:;: : o o air (50 cm?3)

water (130 cm?)

sealed container

Mayah used the tap to remove 30 cm3 of water. She then used the
: pump to add 20 cm3 of air mto the contamer. .  ; E

@ o
(3) 80cm®
(4 100cm®

CHS/Sc/PS/EYE/Booklet A2022 14



22 Shapes P, Q and R are made of cardboard They are piaced at d;fferent
dnstances from the torch '

torch.

The shapes offthé/ Objects are':

The diagram below shows the sh‘aﬂdyoiﬁs'tﬁaty were cast on the screen.

Which of the follbwing’ co'iféctfy"ryepfesents' Shépes, P, Q ahd R?

= P

(@)

Q ;’ o R

3)

) I -

CHS/SC/PS/EYE/Booklet A/2022 15



23 A beaker of ice was heated for 30 mmutes and then left on the table to cool to
room temperature. The changes in the temperature were fecorded on a graph.

Which graph ccrrecﬂy shows the changes in the iemperature overa peraod of

txme'7
m s @) |
temperature (°C) temperature (°C)
f S : k
100+ , 100
o - 30 time (min) : 30 time (min)
3 ; 4 .
temperature (°C) temperature (°C)
| ] R
1001 100+
ol g —
30 time (rnin) ~ 30 time (min)
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24 Study the diagram. -

-

water conservation

l

X :

- making: ofiNEwater‘

- using rainwater to wash |
the floors .

What do X and Z represent?

(1)

@

@ [
@ |

25  The table shows the meitihg and boiling points ofsubs‘tancesy A, B and?

',;rke‘csrcﬁng TR reducing
',r‘e,d:u'cing reusyiyn‘g;; ;
B r‘eizsing recycling
. r‘eéyc_ling ’rkeu,sihgi ;

C.
substance melting point (°C) b’oiﬁ'ng point (°C) |
A 42 78
B 28 63
C 54 90

At which temperature will the three substances be in the same state?

M
(2)
(3
4)

32°C
60°C
75°C
80°C

_ CHS/Sc/PS/EYE/Booklet A2022
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26  Which of the following actions can we.iékemcqnseme electricity?

A use asr—condxt:oners ;

B use energy-saving light bulbs

C switching on the water heater only when you need it

D sthchmg on the electncai appliances when they are not in use

m AandBon,ly,
(2) BandConly
(3) A CandDonly:
() B, CandDonly

‘27 BulbsD,EandF and sthches P.Q and R are connected in a c:rcunt as shown
Ai! the components m the circuit are workmg propeﬂy

5
02

P
[ e
1]
/E- N
F R
Q—"
Which of the following is correct?
Does the bulb light up? | Switch
D E F . p | aq R
{1 yes yes no | closed closed | open
(2) no | yes | no open | closed open
(3) yes no yes closed | open closed
4) no no | yes open open closed

CHS/Sc/P5/EYE/Booklet A2022 , 18



28  Suling wants to find’ out how- the*
brightness of the bulbs. .

e

®—

circuitR

circuit T

. cifeuits

e
.

&3

circuit U

Which circuits should she use for her experiment?

M
(2)
3
@

 CHS/SCIPS/EYE/Bookiet 422022

Rand S
Rand U

Sand U
Tand U

End of Booklet A
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29 'Stud‘y the diagram.z :

animals
| 3 stages in their lifecycle | 4 stages in their hfe cycte
' . o ,;:,Z,:ff:;;;_; R R { ‘

| layeggs + eggs lay eggs

layeggs || lay

X

Cinwater |

o ‘on land

in

ter

T

| 'cdckroaCh

|
v

onland

]
butterfly

(@ Based onthe kd’iégr‘ain;:'state onedikfferen‘ée’between animals X and Y. [1]

The 'graph"Sho‘gvs the mass ofa beetle at different stages of its fife cycle.

Cof
beetle

» time

(b) Name stage C. Give a reason why there is no gain in mass during

stage C. [1]

(Go on to the next page)

. score
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30 Siva observed plants P, Q and R growing on a piece of land as shown in
diagram 1. After a few months, he visited the same piece of land and made

the observations shown in diagram 2.

diagraﬁi 1

_diagram 2

Key

® plantR

A plantP
% plantQ

==p  direction of water flow
— - direction o’ffW'iﬁ‘d

(@)

box.

(b} Explain your choice in (a).

Based on the phyS§Cal characteristics of the three fruits shown, which
fruit is likely to be the fruit of plant Q7 Put a tick (v) in the appropriate

(c) Explain why'it is important for seeds to be dispersed.

CHSISc/PSIEYE/Booklet B/2022 2

{t30 on to the next page)
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31 The" dlagram shows the directton

blood flow in sorme parts of the human
body:” ETR AR

aii other parts cf ihe

(a) Whnch arrow, P Q R or S representsﬂbe ﬂow of blood that contains. \
the greatest amount of carbon d;cxsde? Gwe a reason : [1]

(Go on to the nexi page)

L SCORE v
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Continue from question 31

-

Muthu wanted to find out how his pulse rate would change with dszerent
activities. He recorded his pulse rate immediately after each activity in the

table.
- activity pulse rate per minute
P 75
-Q 85
R 95
S 115
(b) Suggest one variable that Muthu had_to'keep constant. 1]

i

\

(c) Muthu’s pulse rate at rest was 65 beats per mmute Exp!am why hzs
pulse rate increased when doing activity S. , [2]

~ CHS/SC/PS/EYE/Booklet B/2022

(Go on to the next page)
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32 Jasmine wanted to find out how different coloured lights affect the rate of
photosynthesis. She set up a tank as shown in a dark room. She then
~ introduced some fish into each section thh the same amount of water plant

b!ack‘ ‘p!aStic sheetﬂs’ i

bluelight / green hght \ redight

Pl‘anff‘*'“' -

air bubbfe —-—-—Q =
f sh — )

(a) Explain why the fish were found in sections with blue and red lights.  [1]

(b) kWhich’Co!ou?ed light(s) could be used for phétbsynth_esis?’ {1]

(c) Jasmine's %eacher suggested that she repeated her expersment wx{h

‘the same set-up. Why did her teacher say that? , , [1]
(Go on to the next page)
score | |
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Continue from question 32

Jasmine set up another experiment as shown in diagram 1 to find out how
the rate of photosynthesis of a plant is affected by light intensity. Diagram 2
~shows some. bubbies observed in the test tube at the end of the experiment.

| d;agram 1

She recorded the number of bubbles producéd'per mmute \

_ water |
— test tube

~ beaker

bubble

=D

: !;ght ;ntensvty (unxts) }number ofk,bubble's
‘ ] produced per minute
'10_ g 1
20 3
30 4
40 5
50 B 6

{d) State the reiationshtp between the hght intensity and the rate of

photosynthesis. -

]

(e) Suggest one other change Jasmine could make to the set-up in order -~

" 1o collect more bubbles.

CHS/Sc/P5/EYE/Booklet B/2022
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-~ 33 Huimin placed two similar plants, A and B, in two identical potS cé'ntaining '
the same amount of blue-coloured water. She made a 2-cm cut to the stem
of plant A and a 1-cm cut to the stem of plant B.

: :_food-carryingiuhés -

flower A i

2-cm

—71  tem —
outerring outerring
‘removed '

removed [
| piantB

A day later, she noticed flower A remained Whiyt'e:wmié,ﬂcwer B had turned
blue. S e

(@) ’Exp}ai’n why flower A remained white. :

1
(b) Huimin also found that tne stem below the cut section of plants A and
B shrivelled after a few days. Explain why. : 11
{c) Suggest a control set-up. [1]

(Go on to the next page)

SCORE
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- 34 Chstra ‘conducted: an. expenment by: putting.: ssmﬂa

blocks of different
" masses. onto three matenais

mateﬁalJ o

- maienal L

She recorded the mass that each matenal couki ho d before it broke m the

tab!e as shown.
, Matena{ : Mass of b!ocks each matenal could hold before xt broke (g)
K e 2600
oLy . 600
(a) State the property that Chitra was télstihg‘ A il

" (b) Put a tick () in the box(es) below to indicate the changéd variable. 1]

variables | changed

" type Qf materiai

Vmayssf of b!ot:ks

“thickness of material

(¢) Which material should Chitra choose to make a chair?
Explain why. , 1]

(Go on to the niext page)

SCORE |
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- 35'“Dave wds giveri ‘aiviron’ bar, ‘a'bar magiiet aiid’a bowlof. iron filings as
shown. His teacher asked him to pick tip the iron filings from the bowl using
the iron bar. He observed that the iron bar could not pick up any iron filings.

" iohbar abowl of fon fiings

* (8) Describe how he could magnetise the iron bar uSihg the bar magnet

~ sothat he could pick up the ifon filings from the bowl. 12

(b) Dave then decided to use a glass rod instead of the iron bar for part
~ {a). However, the method could not work. Explain why. Lo

g

Next, his teacher gave him object X. She told him to put the bar magnet and
object X near to each other. He observed that object X was attracted to the
- bar magnet as shown in the diagram. -

object X —f Tn —}—— bar magnet

. (c) Dave concluded that object X was a magnet. Do you agree with him?
Give a reason. ’ M

{Go on to the next page)

SCORE
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36 Junwei placed a balloon inte a plastic bottle.

balioon

~“air pump

(a) Junweitried inflating the ”baﬂoon usmg the air pump but found it difficuit
o do so Exp!am why E | 1

plaSﬁc‘boie .

{b) Without addmg or removing anythmg in the set-up, what could Junwei
do o make it easier for him to inflate the balloon msade the plastic
botttle? ]!

_ {c) Explain your answer in part (b). 1]

(Go on to the next page)

 SCORE
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37 Study the set-up.

_ 'retod. stabd

object

r dista’nce ,
. table

The tabie shows the resuits of the expenment

d:sta‘noe f object from torch tength of shadow cast on the table
?(cm) G , (em) :
w20 T s
30 oz
~ (a) Whatwas the aim of the experiment? [1

(b) Based on the experiment, why was the shadow formed on the table? [1]

(c) G;ve a reason how keeping the angle of the torch shining at the object |
constant make the experiment a fair test. [1]

(Go on to the next page)

SCORE
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38 Ahmad had three rods, A, B and C, made of different materials. When he
touched the rods with his hands, rod A fe!t the coldest, followed by rod C
and then rod B. . :

(a) Give a reason why Ahmad’s hand feit cold when he touched the rods. [1]

Then, Ahmad heated the rods to 90°C. He piaced each rod into a beaker of

water. |
rod A f0dB rod C
100mi 100m 100m!
~L- water at ~1- waterat |- water at.
| 5°C | e |[-//E] s
~ beaker X beaker Y  beakerZ

He left the beakers in his room and measured the temperature of water in
each beaker over a period of time. The graph shows the results.

temperature (°C)
A ' X

> time {min)

(b) Based on the results, which rod should be placed in a cup of hottea to
cool the tea the fastest? Explain why. [2]

{Go on to the next page)

SCORE
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39 Mrs Chen took a freshly—baked cake out of the hot oven and 1mmed1ate!y
piaced itina giass container as shown.

glass container

r_!:__—_:l:_l—~—-— freshly-baked cake

Some water droplets were observed on the inner surface of the g!ass
, coniamera few mmutes iater '

(a) Exp!am how th" qdrop!ets of water were formed , [2]

, 'Mrs Chen and her daughter then baked another cake and left 1t to cooi in
kthe kitchen fer ha!f an hour before puttmg it in another glass contamer

(b) Compared top "f(a) woudthe amount ofwater dropiets observed on
the i inner surface of the glass container i increase decrease or remain
the same a few mmutes after the cake was placed in the glass
contamer'? Explam your answer. [1]

(Go on to the next page)

- | Score
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Continue from queétion 39

Aﬁer the bakmg session, Mrs Chen s daughter washed her hair. Then, she
tied her wet hair as shown in diagram 1.

hair fied o  " hair let
upina - down
bun

\ " Gmemt . e

(c) Mrs Chen told her that her ha::r would dry faster if she let it down as
shown in diagram 2. Do you agree with her mother? Explain why.

(d) State another way the daughter could dry her hair faster.

(Goontothe next page)

' SCORE
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40 The graphs show the reiatsonshap between the number of bulbs and the -
brightness of the bulbs in circuit A and. c;rcu;t B. All the bulbs and battenes
are identical,

e

brightness 4 S bnghthéss S
ofbulb 20¢ , ‘  ofbulb ]
: (umt) T (unit) 20
-'1,5 -

RN - B B o of
3 bubs 1 2 3  bubs

c:rcuxtB .

(a) Based on the above graphs state the arrangement ofthe bulbs ineach |
: ofthecnrcu:ts o R T 1]

 circuit A;

circuit B: _

(b Complete the circuit d;agram of c:rcurt B in the box : |
- The battenes have been drawn for you S e [1]

. | (Go on to the next page)
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41 Jack made a circuit maze with strips of plastic on a cardboard as shown. -
Thie four comners labelled P, Q, R and § were made of aluminium foil.

P ™17 B l Q
i ' L L : - cardboard
i E , o - ; B N i
e : : [ : - "> plastic
i l = -1 strips
R- ; - 1s
~ contact point | | contact point

T

{a) When Jaék'c!ipped the contact points to corners Q and S in the circuit
maze, the:bulb'did not light up. Explain why. 1]

(b) Sugygéstk'what Jack should do to solve the problem in part (a). [1]

(¢) Once Jack had solved the problem, he clipped the contact points to
~corners R and S. He noticed that the bulb still did not light up. Explain

o why ‘ 1

End of Booklet B
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Q29 | (a) Animal X has 3-stage hfe cyc!e but animal Y has 4-stage life
cycle. ‘
{b) Pupa stage. The pupa does not eat.

Q30 %
(a) M | T ‘
{b) Fru;t Q has hook- ike strucmres that can hook onto the body
covermg of animals or human ciothmg The fruit loosens and
drops off when the ammai moves to different locations.
{c) This is to reduce overcrowdmg so that the young plants and
the adult plant do not campete fer sunizght water, nutrients
and space. - o -

Q31 | {a) Arrow P. Blood nch in carbon dioxide produced by all parts
of the body is transported to the heart and then the lungs to be
exhaled.

(b) The duration for each actxvstyfthe t;me he took to do for
each act:v;ty -

{c) His heart needs to pump harder to tarry blood faster to
supply more oxygen and more d;gested food to various parts of
the body to release more energy.

Q32 | (a) The plants with blue and red lights couié carry out
photosynthesis and prorjuced oxygen for the fish.




(b) blue and red lights

(c) To ensure that the results are more reliable.

(d) As the light mtensxty mcreases, the photosynthesns also
increases. o f

(e) — add more water plants ,

- add bakmg soda where water plant is

Q33

(2) The water—carrymg tubes of plant A were removed S0 the

blue-coloured water absorbed by the roots could not be
'transported to the flower. ' :
(b) As the food-carrying tubes were cut off food ma‘de by the
 leaves could not be transported to the other parts of the plant
| below the cut/roots o | -
o)A similar set-up with no cuts on the plant. T
Q34 |(a)strength e . S
: (b) tick : type of matena! : o
{c) Material K. Material K cou!d hold the greatest mass of biocks
,  before it broke souit was the strongest ‘material.
Q35 (a) Stroke the iron bar with one pole of the magnet repeatediy
| {b)Glassis anon- magentlc matenai so it cannot ba magnetnsed
(c) No. There was no repulsion. o
Q36 | (a) There was air in the bottle and air occup:es space.
{b) He could poke a hole in the plastsc bottle.
{c) The air in the bottle couid escape from the plastlc bottle so
that the balloon could take up the space prewously occupled by
the air in the bottle.
Q37 | {a) To find out how the d:s‘cance of object from the torch affects
the lenth of shadow cast on the table.
{b) Light travels in a straight line. The light from the torch was
blocked by the object, causing the shadow to be formed on the
table, ’
(c) To ensure that the object recewed the same amount of hght.
Q38 | (a) Ahmad’s hand lost heat to the rods.
(b) Rod A. The temperature of water in the beaker mcreased the
fastest so rod A was the best conductor of heat asit conducted
the heat away from the hot téa to the rod the fastest. ‘
Q39 | (a) The warm water vapour from the cake then came into

contact with the cooler inner surface of the glass contamer, lost
heat and condensed to form water droplets '

{b) Decrease. Some of the water would have evaporated from
the cake so less water vapour could condense
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(c) Yes. The exposed surface area of the wet hair wo
greater so the rate of evaporatmn of water would be
(d) She could dry her han‘ with a dryer.

Q40 | (a) Circuit A : series
Circuit B ; parallel
(b) Cg—t .
Q41 |(a) The p!asttc strips were electric tors so there wa

| open circuit and electrsc current cou
circuit.

(c) The strips were not touchmg eac

cn‘cmt.

t flow through tt'

(b) Replace the plasttc stnps with metay stnps -
er, so there i

!ow throug

open-circuit so electric current cou!
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